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QUESTION 1

Which two properties hold true for standardized variables (also known as z-score normalization)? (Choose two.) 

A. standard deviation = 0.5 

B. expected value = 0 

C. expected value = 0.5 

D. expected value = 1 

E. standard deviation = 1 

Correct Answer: CE 

 

QUESTION 2

DRAG DROP 

What is the best step by step order for machine learning pipeline? 

Select and Place: 

Correct Answer: 
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QUESTION 3

What is meant by the curse of dimensionality? 

A. The number of available algorithms for a given task is high. 

B. The number of available data sources for a given task is high. 

C. The data sparsity becomes more severe as the number of features is increased. 

D. The data sparsity becomes more severe as the number of samples is increased. 

Correct Answer: B 

 

QUESTION 4

Which is an example of a nominal scale data? 

A. a variable industry with categorical values such as financial, engineering, and retail 

B. a variable mood with a scale of values unhappy, ok, and happy 

C. a variable bank account balance whose possible values are $5, $10, and $15 

D. a variable temperature with a scale of values low, medium, and high 

Correct Answer: C 
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QUESTION 5

A new test to diagnose a disease is evaluated on 1152 people, and 106 people have the disease, and 1046 people do
not have the disease. The test results are summarized below: 

In this sample, how many cases are false positives and false negatives? 

A. 33 false positives and 81 false negatives 

B. 81 false positives and 73 false negatives 

C. 73 false positives and 81 false negatives 

D. 81 false positives and 33 false negatives 

Correct Answer: A 
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